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KATI VERİLEN SAYIYI ÇARPMA İŞLEMİNE DÖNÜŞTÜRME 

 

 

 

 

5 x 3 = …… 

3’ün 5 katı  ……  eder. 

7 x 2 = …… 

2’nin 7 katı  ……  eder. 

4 x 5 = …… 

……’in …… katı …… eder. 

6 x 8 = …… 

……’in …… katı …… eder. 

2 x 9 = …… 

……’un …… katı …… eder. 

10 x 1 = …… 

……’in …… katı …… eder. 

3 x 7 = …… 

……’nin …… katı ……eder. 

9 x 5 = …… 

……’in …… katı …… eder. 

5 x 9 = …… 

……’un …… katı …… eder. 

1 x 8 = …… 

……’in …… katı …… eder. 

9 x 1 = …… 

……’un …… katı …… eder. 

10 x 5 = …… 

……’in …… katı …… eder. 

2 x 10 = …… 

……’nin …… katı ……eder. 

3 x 6 = …… 

……’un …… katı …… eder. 

6 x 9 = …… 

……’un …… katı …… eder. 

1 x 7 = …… 

……’in …… katı …… eder. 

8 x 4 = …… 

……’ün …… katı …… eder. 

5 x 1 = …… 

……’in …… katı …… eder. 
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6 x 4 = …… 

4 ’ ün 6 katı …… eder. 

…… x …… = …… 

6 ’ nın 4 katı …… eder. 

…… x …… = …… 

1 ’ in 3 katı …… eder. 

…… x …… = …… 

8 ’ in 2 katı …… eder. 

…… x …… = …… 

5 ’ in 8 katı …… eder. 

…… x …… = …… 

7 ’ nin 3 katı …… eder. 

…… x …… = …… 

9 ’ un 4 katı …… eder. 

…… x …… = …… 

10 ’ un 2 katı …… eder. 

…… x …… = …… 

4 ’ nin 8 katı …… eder. 

…… x …… = …… 

1 ’ in 6 katı …… eder. 

…… x …… = …… 

9 ’ un 8 katı …… eder. 

…… x …… = …… 

2 ’ nin 8 katı …… eder. 

…… x …… = …… 

10 ’ un 7 katı …… eder. 

…… x …… = …… 

7 ’ nin 3 katı …… eder. 

…… x …… = …… 

3 ’ ün 8 katı …… eder. 

…… x …… = …… 

6 ’ nın 1 katı …… eder. 

…… x …… = …… 

2 ’ nin 5 katı …… eder. 

…… x …… = …… 

4 ’ ün 7 katı …… eder. 


